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OOPT Stage 2030_Activity 2031

E

Cross Reference Functions: 8 4.6 Cross Reference Functions: R 4.6
Use Cases: 16 Use Cases: 16

Pre - Requisites S AlAH2| A= Alarm AFEHO|CY, Pre - Requisites B2 AlAH2| AEiE Alarm AFEHO|CY,

e
(A): Actor, (S) : System (A): Actor, (S)  System :
Typical Courses of Events 1. (A HES s 47Me| L= EH ) 1. (A): AHRRI}
2. (S): MEiEl YEHZ BAIBELCE 2. (S): MEdEl g2

AIternatEi\\/,Zr:tc;urses of (1): DFR|2F 2H2F & T D

Exceptional Courses of
Events
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(2)  (A):AIHERE LA FA L2 HES =EM (8)2
Ol =2ttt
(6) (S):AFBAPIHME BIE (2)2 O|ST L.
(12) (S): AFBAZE HME B (8)2 0| SEL
(14) (5) : LHELS SEEME HETCL
(2): A S=7F 992 M| S7HAI7|H 192 HESHCT

(10): M S=IF99YM STHA|F|H 192 HEISHT
(4)~(5): AFBAPZE LS HHE A 'L H3lZ(0(e] 27t 128 g
Z|HY 2 L H =0
(9)~(10): AFBAZH 'S BIE Al 'L'Q] HEIZI0[2 27 1L 2E 2

(2)  (A): AIZERE LHGA| FA OS HES FEL (1022
0| St
2(18) (5) - LdHL2 SEEWE HYTICL
(8) (S): AFBAZt HME HHE (2)2 0| SEHCH.
(16) (S): AFSAZE HME EFPE (10)22 0| SEICH
(2): 2R A=TF 99U M STHAIZ|H 192 HSIEHCE,
(10): HEHR S=JF 992 W] STHAI7|H 192 HSHSHCL
(5)~(6): ALBAILE'E BIE Al '¢'el HElgto| HeJh 122
Z|CHU 2 2L

Z|HE2 e FEo
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(2)~(9), :
1. DHEZ =23 Z2ER H|0|Z|2 0|SFICH
(9),:
1. BHES £2H (2)22 0|SFiCH
(2)~(18),:
1. CHESZ 521 (20)22 0|SFiC
(18):
1. AHEZ 5£2E (11)2 0|53,
(11)~(18),:
1. DHEZ =8 22 0|5F).
2. CHES £2% (20)22 0|F¢8tLh
(2): AR ST JF 99U S7HA|Z | 192 =3I5HTY
(12): AR =7 99U STHAIZ| B 192 SIS},
(6)~(7): AFBAP7HE'E BIE A| ‘Y| 3120 He7t 1¢58E ol
zZ|CHe 2 H L F S0t
(15)~(16): AFBAZHE'E 88 Al ‘Yo H31210| H7t 12586 29
Z|THY 2 L H =T

(2)~(9), :
=5 SRR HO|AZ 0|5
(9). :

+2E (2)2= 0|5

(2)~(18):

£29 (20)22 0|SFHCH

(18):
FE2E (11)2 0|53
(1 1)~(18) :

(1 2)
(6)~(7): ALEAL

SL,




Brute Force Testing

Description

‘HE19| gtE 99k Lt 3 HFct

ZE HF0AM 9999'H 12 312 M F, o
27hX|Lhe 2t 2Rt 2bS0] o 20w Lairh,

Efo|of 4% = BE M0l ELO|0{E H|2ls}e
o] S2lex| gelsitt,

EtO|0{7} 00| £[0f 30| E2|1 M of 5
BE ZHAIEX)0| 022 £7|3 & EX| 2
ct.

FYREOM DHES F2H enabled® 20|
disabled & Ef2 HZE|E=X| 2telptct

AE EROIM B2 ERE WY Al HM7HEE]
2 fIXItct

AN ZEQO0| 20, IME 25HL 0|2
32 d-day2t % E7|7t & ==X &

Efo|of 4 = B 80} EfO|0{E H|2ls}e
o] S2lex| gelsitt,

Test Output

Q11 0t ofL|a} BE gto] 0|A3t Zo 2 BT
et Ajzk M| 27k ezITt (0] MefEl 3t
ol obtl THE Zto| Zof bfE)

AlA|2| Zh 2t 2HS0] oF 7Y P
2 3te BOIFX| R

EtO|0{ 30 47 2 B #Y3si0] EtO|HE H e
S 30 2of &0l 28

EtO|0{7} 00| =|0f AE0| 22|11, AES HF
2ot EfO|Of AJZto 2 ThA| A /T CHE LHSO| &
Hojl Liet AUX| Y.

TYRE0|M DHES 52| = enabledEl 20|
disabled & EH2 HHP|X| @=Lt (00AI00200% &
Ef 2 EnO| EY3tE)

BlofL|3} BE Zto| 0|4l 7o HiFD
~day #240] 27HS AT (0]= MetE
oh2 zto| Zo| Bl

SEY0| ARt = O] 2 e
ko2 mA|EL)

4Xt2| 014(999901¢) 2| d-day= EHO| QHEICt
(el xt2|7t A 2=l =57

HAMZL AR HEfO HE2{9US.

d-dayOfl A= THO| 0] Z LIEFLEX| 2 96 Ol M=

‘done’@ 2 EA|EIC}

Et0|0f 30X H7 = BERHSI0] EtO|HE H|2|
S 302 2of 20| Ict

Accepted A|Z+0| £2{ 10000H0| | 1970 1€ 12 EXRE HY

Accepted D-day pageE HASIH HMIL "AE 1”2 QK|S

=

= u

Ag.

=13
=




Static Analysis (Bug)

T ewenwn e e

Bug 01 : Unread field: GUI.DigitalWatch$Bell.isBeeping Boolean -> booleano 2 4%
Bug 02 : Call the method Thread.start() to execute the conte ax.

nt of the run() method in a dedicated thread. run() > start() 2.2 =
Bug 03 : GUI.DigitalWatch$Bell.play() explicitly invokes run . °

on a thread (did you mean to start it instead?) run() > start() &

Bug 04 : Unread fIEId Logic'AIarmTime~m_ﬂmer
Bug 05 : Unread fleld LogiC.Dday.m_timer
Bug 06 : Unread field: Logic.IntervalTimer.m_timer Timer m_timer AtK|

Bug 07 : Unread field: Logic.StopWatch.m_timer Timer m_timer AHH|
Bug 08 : Unread fIEId Logic'TimEKeeping.m_timer
Bug 09 : Unread fleld Logic.watChSYStem‘m_timer

= St
. Bug 10 : Logic.WatchSystem.digitldeal (Object) concatenates - o Z 0] stringbufferS At&2
Bug 10 Reject . X .
strings using + in a loop
Bug 11 ggsa}Je;Equallty tests should not be made with floating poi calDday == 0> ==0f = 2%

Bug 12 : Self assignment of field WatchTimer.m_timer in ne ) . At
" Logic.watChTimer() h m_tlmer i x“
rBﬂu;(;S : Uninitialized read of m_timer in new Logic.WatchTi Timer m_timer 2|




Static Analysis (Critical)

T . S —

Critical 01 Reject

Critical 02 Reject

o

C tlca|O4 Critical 04 : Avoid empty if statements

Critical 07

-

Critical 01 : Refactor this method to reduce its

Cognitive Complexity from 17 to the 15 allow
ed.

Critical 02 : Refactor this code to not nest mor
e than 3 if/for/while/switch/try statements.

Critical 03 : Refactor this code to not nest mor
e than 3 if/for/while/switch/try statements.

Critical 05 : Refactor this method to reduce its

Cognitive Complexity from 53 to the 15 allow
ed.

Critical 06 : The Cyclomatic Complexity of this
method "buttonB" is 13 which is greater than
10 authorized.

Critical 07 : Refactor this code to not nest mor
e than 3 if/for/while/switch/try statements.

Critical 08 : Refactor this code to not nest mor
e than 3 if/for/while/switch/try statements.

GUI Layer
of| &t

20| Thickst2 2

SIZEQO 2A YoM Al I 0]H0] B
71| MA A7 |2 0] guio| O] Thick s & %=

kol QiCt. 3t Sl Branch7t 7| s 2&i0| Z st
7] U2 0f &2 Issue2 Reject ot it

AZEQ O BA IHOIM A A 2Ie{| o]0 B
A | A7|-20i guio] BHO| Thick s & ==
groj| gict. =k off 2 Branch7t 7| s#&d0| 2ast

7| W20f s IssueE Reject kULt

System.out.printin("none"); 2 2 =
2 A

sg7tso 2
oll of Lt

GUIQ} 2z
w9ig

E HAM =07 0l FHE HMET

AZEQOf 27 IHO|M A|AH IH2{| 0] 0] B
Al A = A7| 20l guie] FHO| Thick siE ==
g2rofl gict ESH B Branch?t 7| 5730 2ast
7| W 2of S IssueE Reject SHSHLCE.

.+.£E$J|01 A BEoIM Al B I 0] 0] B
HAEA7| =20 guie| O] Thick & ==
01| SiCH st s Branch7t 7| 58 0f ul_g_o}
7| 20 8 S IssueS Reject S} SLCt.




Code Coverage

== Lines to Cover == Covered Lines
! Gow Gan ! == Lines to Cover == Covered Lines

June 2, 2019, 8:44 PM

June 8, 2019, 7:23 PM
== 1,164 Lines to Cover

== 1,124 Lines to Cover
== 476 Covered Lines == 515 Covered Lines
688 Uncovered Lines 609 Uncovered Lines
35.1% Coverage / 41.2% Coverage

Events: O

Fri17 May19 Tue21 Thu23 Sat25 Mon27 Wed29 Fri31 June Mon 03 Wed 05 Wed 15 Fri 17 May 19

Tue 21 Thu 23 Sat25 Mon27 Wed29 Fri31 June Mon 03 Wed 05
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